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Chemistry 210

1. Carry out the following conversions by DIMENSIONAL ANALYSIS. Express the answers to the correct
number of significant figures. (Use the back cover of the book for some conversion factors.)

G) 45,000pm > pm
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Express the following numbers in proper scientific notation.
A) 555,000,000

S \oq B 15120 =/, §)x0 x ;0"
B) 0.0008600 e

%.600 x 10~ G) 0.000785 x 107 F8Sx07T
C) 3784x 10" 3 .
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U Simplify the following expressions to single powers of 10 (without a
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4. A chemistry teacher has a height of 70.0 inches. What is the height of that teacher in meters?

F0.0 K |a.SHem |\ wm

1 [ 100 c Z 138 m
5. What is the mass of a gold bar (in kilograms) with a weight of 100. 0z. ?
100. 02 | | 1b | | kg &
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@ What is the density of a piece of wood if it has a mass of 1.55x10° g and a volume 1.74 m'?
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. §~Ehmm0n meo:n« are you putting in your car if fill up with 45 L ? (Dgusotne = 0.671 g/mL)
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Q How many significant figures are in each of the following numbers?

A) 100100 (,
B) 0.00023 2.
C) 1.2500x107 g~

D) 320,000 3

E) 450,000, (o
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G) 0.0090090 S
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Q Express the answers to the following problems in scientific notation with the correct number of sig figs:

A 325x10° x 1.79x107%
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B. 4583+7.170
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= § 63 fY\Ov
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E. 0.00359-0.0000912
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F. 4.55x10%® + 3.22x10%
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G. 300.x 500.
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I. 1200+ 32,000
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